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RRB NTPC 11th April 2016 Shift 2

Test Date: 11/04/2016
Test Time: 12:30 PM - 2:00 PM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 sfecy & ser, B aed o aifae AN A0 B geelted e (niece) w1 Mar &1 sfer @ snfeey & war
Rear Question ID : 9888371732

: gl Status : Answered
C. 81T (Grandfather) Chosen Opt|0n 12
D. i

Ans X1 A
K 2.c
v 3B
X 4D

Afg fhel #13 F an, ‘book is big' w1 756 ; 'big is story’ #1 764 N ‘story book is interesting’ ) 4356
Q.2 3

Fova S & 3 31 T 3 Interagl TG Question ID :9888371719
;- j Status : Answered

c.5 Chosen Option :1

D.6
Ans «1.A
5 2B
/5 3.D
F N




A.4f5
B. 5/4
C. 4/7

D. 7/4
Ans X' 1.C
v 2B
A 3.A
< 4.D

Question ID :9888371726
Status : Answered
Chosen Option :2

Q4 gra & Fr=faf@d # & $ia a1 pealer ©RA ¢ 272

A. gl ®ETH, AR

B. szt wefzam, fafFsn

C. G o TEIBTA, Hlasiar

D. §ER 9eol ¥fE3ad, sgAgEg
Ans X' 1A

/X 2.B

K 3.C

W 4D

Question ID : 9888371660
Status : Answered
Chosen Option : 4

Q.5 12 e w1 Gl fw 13 w9 8, 15 fime 50 devs @ Wa Beael w98 @ (uk geetaa e o quiiiea)

A10.8
[ERRI
.06
D. 109

Ans X 1.B
v 2A
X 3C
/< 4.D

Question ID :9888371698
Status : Answered
Chosen Option :2

Q.6 U ard 2% dun 12% b awn A daa o R A # 3 el # seat &, ol dell Rea e @ s @
A, 51:96
B. 51:53
C.52:53
D. 55:56

Ans x1_

X
> O W O

Question ID :9888371707
Status : Answered
Chosen Option : 4




Q7 3iafter I & 3e 3iaRa Al a9 #gHd ad g

A. Sarar

B. &8

C. e

D. st w1 W falt e g
Ans «1.0

& 2D

/5 3.B

& 4A

Question ID :9888371687
Status : Answered
Chosen Option : 1

Q8 -3, 4,0, 4, -2 -5 1, 7, 10, 5 37isal &I AEIHT (median) :

A2

B. 25
C.275
D.3

Ans X' 1.C
K 2D
V3B
& 4A

Question ID :9888371717
Status : Answered
Chosen Option :3

Q 9 A junior college inducts students based on the following criteria —

1. Students who scored above 75% in Physics, 85% in Mathematics and 70% in Chemistry.
2. Students who scored at least 60% in English.
3. Students who are good in a sport or play a musical instrument or know a dance form.

‘Which student among the following will the college definitely fake?

A. Shakti with 80% in Physics, 65% in Chemistry, 85% in Mathematics, 61% in English and plays veena.
B. Megha secured 80% in Physics, 87% in Mathematics, 70% in English, 75% in Chemistry and is a singer.
C. Sheela secured 78% in Physics, 70% in Chemistry, 85% in Mathematics, 75% in English knows Manipuri folk

dance.

D. Mallika secured 70% in Chemistry, 70% in Mathematics, 85% in Physics, 65% in English and plays basketball.

Ans X' 1D
& 20A
Wvs3cC
/< 4B

Question ID :9888371750
Status : Answered
Chosen Option :3

Q.10 Fieperaar diet T TEar 1973 7 525 & Ge@] &1 a5 =ff

A. 560
B. 555
C. 550
D. 545

Ans X' 1B
W 2D

Question ID :9888371664
Status : Answered
Chosen Option : 2




& 3.A
K 4cC

Q.11 221 w90 & 1:3:6:7 & Jqurd A [anfoia o, af sa% ddfda seua 3§ w92 &

A 13,3977 3R 92
B. 13.39,79 3R 90
C. 13,39,78 3T 91
D. 13,40,80 3T 91

Ans  f 1 C
5 2.A
/A 3D
/X 4.B

Question ID :9888371697
Status : Answered
Chosen Option :1

Q.12 5 s, 2016 & @bt 5 el & fovw sicsdia Har oy & gdy fAdes & e A Rl g B o a7

A, ¥id-wie (Strauss-Khan)

B. f#Té= @ams (Chnstine Lagarde)
. fa# dlar BeE (Jim Yong Kim)
0. Ffgr & 7 (Rodrigo de Rato)

Ans 31 A
X 2.C
75 3D
W 4B

Question ID :9888371651
Status : Answered
Chosen Option :4

Q.13 The human spinal column is made up of bones.

A. .33
B. 42
C. 44
.53

Ans X' 1.D
W 2A
< 3.C
/X 4.B

Question ID :9888371680
Status : Answered
Chosen Option :2

Q14 Jqre FiT ggen Afger Iscafa FiT g2

A. {iar ssir
B. facar ¢dr s/l
C. U2adT Ty oaHT

D. ®IFd Iad da#r
Ans 31 A

Question ID :9888371666
Status : Answered
Chosen Option :4




K 2.C
/X 3.D
W 4B

Q.15 Arfeif@d # ¥ Fhger 9ga AN AIG & & & §7 # qoie far a=2m ar?

A. 936l =T fa9mat«, 1905

B. 1857 & faglg
C. afa=a g Figie=, 1930-1931
D. INT SISl JMgiers, 1942

Ans X' 1.C
K 2.A
75 3D
v 4B

Question ID :9888371657
Status : Answered
Chosen Option : 4

Q.16 A v vard @ gd s 3 eaie oy a9iEa wed gu amg sie A 9 a2 20 fee @ gag dd B et sl
aee A F] 11 G 156 e o d@ a3 9SS 7 R RRaer i wee

A. 7 WiE 25 T
B. 7 gt 35 fwe
C.7 wiE 45 T
0.7 gt 15 fwe

Ans X 1.C
WA
/X 3.B
75 4D

Question ID :9888371701
Status : Answered
Chosen Option :2

Q.17 4 e B B A 12 Bt 7 aow @ 1 6 e 3/ 9 F g@wt 7 fhder gy d69 e

A 9 e
B. 8 g1
C.8.1 f&ar
D. 8.2 fgar

Ans 2 1A
K 2D
< 3.C
W 4B

Question ID : 9888371699
Status : Answered
Chosen Option :4

Q.18 Ms. Alina borrowed Rs. 650 at 6% per annum simple interest. What amount will she pay to clear her debt after 4 years?

A. Rs. 165
B. Rs. 860
C. Bs. 806
D.Rs. 156

Ans X' 1.D
75 2.8
A 3.A
W c

Question ID :9888371703
Status : Answered
Chosen Option :4




Q.19 e gt we whed My daal A, war citer wn 3udlan sk 8% e whan dan B, o s g ufded §

A 16.25 Question ID :9888371706
2- ::‘;4 Status : Answered
D. 165 Chosen Option :1
Ans o 1B
X 2.C
75 3.A
X 4.D
Q.20 =
_ #AY aHar & #1199 GdiUd FG8 el Question ID : 9888371682
Status : Answered
A. GB Chosen Option :2
B. TB
C. HB
D. /B
Ans J 1.C
K 2.D
X 3B
5 4 A
Q.21 . J
gel HIST © 1000c-5=-6 Question ID : 9888371710
Status : Answered
A 1 Chosen Option :2
© 1000
-1
B. 1000
—-11
C. 1000
i1
[, —8
1000
Ans 2 1A
2B
/A 3D




Q22 gr3e walFe 7 ud gl

A. Tdsad
B. Id
C. #91er

D. Har=T

Ans 1.C
2.B
3.D
4. A

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Question ID :9888371652
Status : Answered
Chosen Option : 1

Q 23 Function key in a Windows keyboard can perform several functions, and does not have an assigned Windows default.

A.Fl
B. Fo
C.F8
D.Fa

Ans 1A
X 2D
W3cC
5 4B

Question ID :9888371681
Status : Answered
Chosen Option : 2

Q.24 i &1 AETsd 6T g Yeie ddeel (sensing) il & Hafed el 67

A. T &9 (Finger touch)
B. ais@ f@3sie (Voice recognition)
C. 9093 ¢d (Gloved touch)
D. s ¢iafAed (Light transmittance)

Ans o 1B
K 2.c
5 3.A
& 4D

Question ID :9888371671
Status : Answered
Chosen Option : 2

025 #f¢ O = 15 3R STAR = 58 dl CAMEL =?

A. 39
B. 34
.33

D. 36
Ans X 1.C
X 2.A

Question ID :9888371720
Status : Answered
Chosen Option :4




A 3D
W 4B

Q.26 Which of the following is not regarded as helpful t 2
ich ot the fotlo STOtIE as ielp 0 compos Question ID : 9888371662

A. Egg shells Status : Answered
Chosen Option : 2
B. Sawdust

C. Tea-bags
D. Fish bones

Ans JLD
K 2.A
K 3.cC
/< 4.B

Q.27 .
231x034= &I AW p : Question ID : 9888371692

Status : Answered
A 17854 Chosen Option :3

B. 0.7854
C. 0.7845
D. 0.7584
Ans X 1D
K 2.C
V3B
K 4A

Q.28 7 -
2015 # AT & FeerAl & & 7 foraet fAaitaa fomar amar ar? Question ID : 9888371654

A. f@e oot @A (Khil Raj Regmi) Status : Answered
B. gefier Iz (Sushil Koirala) Chosen Option :2

C. %. df 25t 3 (K. P. Sharma Ol
D. 919U# #ENIS (Baburam Bhattarai)

Ans X' 1A
vac
/< 3.D
/< 4.B




Q.29 Statements followed by some conclusions are given below.
Statements: Question ID :9888371749
A. Ravi works more than Meera who works § hours every day. Status : Answered
B. Yuvi works for 9 hours a day which is lesser than Ravi’s by 1 hour. Chosen Option :1
Conclusions:

1. Ravi works for 8 hours.

I1. Ravi and Yuvi both work more than Meera every day.
Find which of the given conclusions logically follow from the given statements.

A. Only conclusion I follows.
B. Only conclusion II follows.
C. Both I and II follow.

D. Neither I nor II follows.

Ans o 1B
S 2.A
5 3D
F N

0302, 9,9 3,6, 9, 4 ATHST F AT (mean) §; Question ID : 9888371716

Status : Answered
Chosen Option :4

-==J|'“‘ ':’"hq|"“"

A.
B.
=
Bl
Ans XLC

& 2D

5 3A
W 4B

31 )
Q31 Frfeler _ &ar & QAT =I1H g Question ID : 9888371653

Status : Answered

A. Iam Chosen Option :1

B. wrafigel
C. IJHAT

|

D. sieAqH
Ans X' 1B
52D
W 3cC




K 4 A

Q.32 Borosilicate glass wear is used in microwave oven because

A. It is not brittle

B. It is highly heat resistant

C. It cooks faster than any other vessel
D. It is energy efficient

Ans X 1.C
S 2.A
75 3D
W 4B

Question ID : 9888371688
Status : Answered
Chosen Option :4

Q.33 gt HETaft 1 3T 4:5 AT HCF 13 §, af LCM §:

A. 260
B. 92
C. 65
D. 265
Ans X 1.D
/< 2.B
WA
K 4.C

Question ID : 9888371696
Status : Answered
Chosen Option :3

Q.34 HIel EAIE Y 5x-2x{x-1)

A 3x-2
B. 3x+2
C. 7
B o T
Ans X 1.C
W 2D
75 3.A

/< 4.B

Question ID :9888371709
Status : Answered
Chosen Option : 2




Q35 yfz PQRST : SPTRQ dr HIJKL :?

A. KHJLI
B. KHLIJ
C. KHLJI

D. KHILJ
Ans X1 A
& 2.D
W 3cC
2~ 4B

Question ID :9888371724
Status : Answered
Chosen Option : 3

Q.36 Which one of the following does not directly refer to cholesterol?

A. Low density lipoprotein
B. High density lipoprotein
C. Rhesus factor

D. Packaged protein coat

Ans «1_0
& 2.A
/5 3.8
5 4D

Question ID : 9888371679
Status : Answered
Chosen Option :1

Q37 Q. PR TwaA IR PHR A E M #AEch R & frah &1 Q & frar &1 M & ar Rear g2

A daT

B. 91T (Grandson)
C. grATg

D.

Ans «1_0
& 2.A
X< 3D
/< 4B

Question ID :9888371733
Status : Answered
Chosen Option :1

Q.38 AT v fffEa aw (A) 3R FRor (R) faam 4w 2
ffaa aa (A) : Siorel & Y A FO A STNS T@ g
®RT (R) : 3cATea 9 9 & ALY 1 3a%ar F# g1 ol gl
I8 [AFeT &1 T HY

A. A 3T R g9l @I & d21 R, A &1 HgI TSR0 §

B. A 3iX R g4 @ér § o R, A &7 | TISCIE0T o181 gl
C. A @ ¢, Wd R 7reld gl

D. A 7red &, Hd R &1 81

Question ID : 9888371751
Status : Answered
Chosen Option : 4




Ans X' 1D
X 2.A
N 3.C
W 4B

Q.39 . :
afe wAfeET - | FOT :? Question ID : 9888371728
Status : Answered
A. 3|

B. o
C. ddel
D. 3rei-ar|
Ans X' 1D
S 2.A
5 3.C
W 4B

Q.40 3/ TF T8 15% F gifed T 20,400 T A 977 §1 W 15% M7 TR F T 8 F R FoAa w@ 3w

arfge? Question ID : 9888371705

A. 27.400 w7 Status : Answered
B. 27,300 T

C. 27,500 w92 Chosen Option :1
D. 27,600 s

Ans o 1D
X 2.B
5 3.A
F N

Chosen Option :4

Comprehension:

Shid & 100 9t # & 20 oer dhad siarell Sty q@ar ggd o, 30, sioren S| 3T amw q@er ged o,
c@eT dTgd o, 25 Facl aTg @ digd o, 5, Siden HH R dgan, Al c@er Ggd o AR AW dae
qied ol

SubQuestion No : 41

Q.4 oA c@et & STHF ARl I gAdl H Gl a@e & STod ARl BT I
1 Question ID :9888371744

A 111 Status :Not Attempted

B. 11/3 Chosen Option :--
C. 111

D. 3/11

Ans ' 1 A
X 2D
W3c
X 4B




Comprehension:

gafd & 100 9fFAT 7 & 20 @1 Fad sl 8 g@ar argd 4, 30, sieren a3 e d@er 9rd 9,
a@l AIgd o, 25 sacel &g @l Tigd o, 5, Siwen FH R dgIn, el a@er Agd o R AW dae
aed o

SubQuestion No : 42

4 fancal T el T ST G@T dlgd 9?

Question ID :9888371742
Status : Not Attempted
Chosen Option :--

A. 30
B. 65
C. 60
D. 50

Ans X1_D

X 2c
X 3.A
W 4.B

Comprehension:

yfc & 100 9f3t 1 & 20 @r Saer storeh e c@ar ged 3, 30, sl a3 g d@er 9Rd 9,

e g o, 25 Fa g q@al digd o, 5, Saren #9 3R dgan, At a@er dagd o Y AW e #
qiEd 9l

SubQuestion No : 43
o;mﬁﬂmﬂwmms}.qﬁﬁ@ﬂﬂﬁmmﬁﬁ?

Question ID :9888371743
A. D Status : Not Attempted

B. 15 Chosen Option :=-
C. 50

D. 55

Ans X' {.D

Wv2oc
X 3A
X 4B

Q44 0,018 Fr T faafFa g

Question ID :9888371693
Status : Answered

Chosen Option : 4

i
A'E




Ans X1.D

Question ID :9888371739
Status : Answered

Chosen Option :1

A1
B. 2
C.3
D. 4
Ans «1.D
K 2B
< 3cC
& 4A

Q46 Jrurer FIfaiT : 4082 + 157 - 23 Question ID : 9888371690

Status : Answered

A. -3 Chosen Option : 4

B.3
C. 2041167
D. 2014/67
Ans x 1.C
< 2D
5 3.A
v 4B

Comprehension:



frrafaf@a saslt #1 eoer & g §U 39 W IR weaAl & 3o g
& oA forel, A4, e, Soft, U 3 BT, MadR  (Fhed) A Uh gal & HA 30 9FR & S0

1. 3, S & F9e A g5 AR S8 2

2. ferelt, B & urg «igh 3461 81

3. Sl & 9 A 918 W oS oA, B F 9w A g 3 A6 g
4. TS, #AY & 99 A g5 3 AET 48T B

SubQuestion No : 47

07-4 ﬂj_ﬁ- a; a1 ﬁ mg 3"[1_{ Eﬁ?—[ a_d— %7 Question ID : 9888371735

Status : Answered

A _S\Gﬁ Chosen Option :2
B. J=iT

C. #lr

D. favffa @1gt f&Far o ahar 81
Ans 1 A

W 2D

X 3.c

X 4B

Comprehension:

frrafafa sast #1 ea & g §U 38 W IR weadl & 3o g
©: oA foel, A4, e, 5o, U9 3 B, MaeR  (FFe) 7 UF gal & G 30 YR 8 o0

1. 3, S & T F g5 IR IS B

2. foreh, &8 & g ST 961 2

3. Sl & 9 A 9 HY S48 wEn, B & 9w 7 g 3 36§
4. T, {A F 9 F G I AL 57 B

SubQuestion No : 48

Q.4 STell Eehel -
8 o = R Wt T SRRty i oL et e Question ID : 9888371737

A. BT Status : Answered
B. TS Chosen Option :2

C. 35
D. fAuffa @€t Thrar a1 @ehar &

Ans X 1B
W 2D
X 3.cC
X 4A

Comprehension:




frrafaf@a saslt #1 eoer & g §U 39 W IR weaAl & 3o g
& oA forel, A4, e, Soft, U 3 BT, MadR  (Fhed) A Uh gal & HA 30 9FR & S0

1. 3, S & F9e A g5 AR S8 2

2. ferelt, B & urg «igh 3461 81

3. Sl & 9 A 918 W oS oA, B F 9w A g 3 A6 g
4. TS, #AY & 99 A g5 3 AET 48T B

SubQuestion No : 49

Q.4 :
et Felelt & garer 915 3T SO & Question D : 9888371736
Status : Answered
A. EE_“ Chosen Option :1
B. #r
C. Ul
D. Sfelr
Ans ( 1.B
X 2D
X 3.cC
K 4A
Q.50 fyeay
e | Question ID : 9888371674
) Status : Answered
A. @I (Cocaine) Chosen Option -1

B. &HIa (Caffeine)
C. @I (Nicotine)

D. 05 (Heroin)
Ans o 1B
X 2c
/5 3.D
5 4A

Q.51 gareandt 3T 39y TAET (‘Operation Smile’ ¥ gafea g
G (Onertion: Seile) ¢ Question ID : 9888371649

A. afse AT Status : Answered
B. g faeramsi Chosen Option :4
C. TadadT Helferar

D. ®19ar =4l

Ans 1A
K 2.c
/5 3.8




W 4D

Q.52 sl safar ard whle sl kel (Scott Joseph Kelly) & 97 340 el & R dmar Hawsda
SRar e R wAE G o0

A TETHTEIE 24
B. wEifae 25
C. vEEEE 26
D. vaEdfdus 27

Ans 1 C
K 2.A
/A 3.B
F )

Question ID : 9888371686
Status : Not Attempted
Chosen Option :--

0'53313_ Tanﬁ=% AT T.rm3=% g, ol (4-B)="7

304
T 297
304

" 425
416

87
87

" 416

Ans X' 1B

A
X 3.C
D

Question ID :9888371715
Status : Not Attempted
Chosen Option :--

Q.54 faza fausa Farer geufderer #GT (Pashupatinath temple) & fFara &1

A. SRITER
B. el
C. FIoAg
D. HearT

Ans X 1.D
vac
/< 3.B
5 4 A

Question ID :9888371668
Status : Answered
Chosen Option :2




Q.55 &y arft SIS & A deeT g2iid dlel [dshed &1 TA= S|
Impulsive : Impromptu

A. Moderate : Increase
B. Flawless : Impeccable
C. Perpetual : Transitory

D. Resistant : Receptive

Ans X' {.C
& 2.A
/< 3D
W 4B

Question ID :9888371730
Status : Answered
Chosen Option :4

Q.56 U S giade J87 &1

A. T 33T Ihl=l
B. % 33d Fd T
C. & I deh LAl
D. sell "34T (rotting)
Ans X' {.C
K 2D
v 3B
& 4A

Question ID : 9888371672
Status : Answered
Chosen Option :3

Q.57 Anand’s mother is Chandra’s father’s son’s sister. How is Anand related to Chandra’s father?

A. Grandfather
B. Father

C. Uncle

D. Grandson

Ans JLD
K 2.c
/5 3.8
X 4A

Question ID :9888371731
Status : Answered
Chosen Option :1

Q.58 IS, AT F GNIAT WA AGIHN § qA F e wF R 22 el F AT B ) AR Hhel IE
F H e = 7 Fe?

A. 44
B. 66
C. 88
D. 60

Ans X' {.C
& 2.D
v 3B

Question ID :9888371700
Status : Answered
Chosen Option :3




K 4A

Q.59 s e S aFars 0 @ e dlag 5 Aol ¥ Reot fr ema dah @ g B
Question ID :9888371712
A. <106

B. +4106 Status : Answered
Cppr Chosen Option :2

D. £2.1

Ans 2 1.D
WA
/5 3.B
K 4.C

080 FrpfaifEa '
A H 3ITEN 3 AT gIIM? Question ID : 9888371723

Status : Answered

4, 8, 8, 16, 12, 24, _ Chosen Option : 2

A. 32
B. 48
C. 28

D. 16

Ans X 1.C
W 2D

75 3.B

K 4A

Q.61 @ F& Fuw IR T fvwd Ru aw § )
FUA: Question ID : 9888371738
1. Fo =, araere §, Glaﬁaimqﬁaa
2. i 3, B ¥ i 7 I3, e g
3. mef ae, B Chosen Option : 1

Status : Answered

oy
I %% 18, = ol
II. Fe 3, afaeie g1

rafafaa # @ #la @ (@) forswd Re v Fuai &1 afFE ® & ATE0T ST (F) §7

A el s | SfepEor T 2
B. dhael favey || segaor #dr g1
C. 1 3T Il GFF 37eaor H4a 2
D. & | 3% & € Il e 4ar §1

Ans X 1.C
K 2D
W 3A
K 4B




Q.62 Physical Research Laboratory was founded by ;

A S. K. Mitra
B. C. V. Eaman
C. Homi Bhaba

D. Vikram Sarabhai
Ans X' 1B
X 2c
W 3D
5 4A

Question ID :9888371685
Status : Answered
Chosen Option :1

Q.63 v agd WA HAisel dgoA g3 A P Tafd 7l awe @ __f

A. dFAEa
B. #F@ada 3R sefdcada

C. faega  (Electrical)
D. el garterd

Ans X' {.C
X 2D
/5 3.B
4

Question ID :9888371670
Status : Answered
Chosen Option : 4

Q.64 LRI setAwerd (Transparency Intemational - TI) & S=adl 2016 &) H9a sserar @ 343 31 |Rd ) 168

&t Fr g A FAE = a famm

A 68
B. 76
C.84
D. 101

Ans X' 1.C
2B
/< 3.D
& 4A

Question ID :9888371650
Status : Answered
Chosen Option :2

Q65 &ar U 3

A. gg AT
B. hacr &0t &1 @eor
C. shdel dcdl &1 407

D. et dcar 3T aifaeet o1 Feor

Ans XLA
X 2c

Question ID :9888371673
Status : Answered
Chosen Option : 4




/A 3.B
W 4D

Q.66 ITF Davis Cup is structured witha  nation World Group. Question ID : 9888371661
uestion :

A8 Status : Answered
Chosen Option : 3

B. 16

C. 20
D. 24

Ans X' 1.D
K 2.C
v 3B
5 4A

Q67 gfg BLACK = AMZDJ @ BEAUTIFUL =? Question D : 9888371721

Status : Answered

A. AEZSUJEVK Chosen Option : 3

B. AFZVSJEVK
C. AEZSUJFVK
D. AEZSSJEVK
Ans 2 1.D
K 2cC
W 3.8
K 4A

Q.68 &I HEATT & AUTADel 2522 § T4l LCM 97 & @ 3eehl HCF w1d difsiv)
Question ID :9888371695

A. 28 Status : Answered

B. 29
C. 24

Chosen Option :2

D. 26

Ans X' 1A
W 2D
K 3.cC
X 4.B




Q69 fea 3 w=—2,x=3,y=0&z=—%| £‘+x & HT ¢ :

W
A, 31
4
B. —31
4

S
D. 3.9

Ans 2 1.D
K 2cC
W 3A
K 4B

Question ID :9888371708
Status : Answered
Chosen Option : 3

Q.70 Secx
Elia S X =i %, Fﬁ : =i
5 Sinx

Ans 2 1.B

Question ID :9888371714
Status : Answered
Chosen Option :2

Q71 FHaTel FHIC GHI HT HBT H gl

ATl
B. feoelr
C. 2Mgedr 91T
D. &ecrerg
Ans X' 1A
K 2.C
V3B
/X 4.D

Question ID : 9888371669
Status : Answered
Chosen Option :3




Q72 rrafafEad # @ Wiea faeeg &1 999 FX

N

1 2 3

I

[

NS,
=

N

[

f oY

Al
B. 2
5.0
D. 4
Ans X' 1.C

W 2.8
5 3.A
/< 4D

Question ID :9888371729
Status : Answered
Chosen Option : 1

Q.73 ueh Fgasl A Ycds AT FIOT 40° F § A IHH 7AW &

AT
B. 10
cC.9
D. 8
Ans X' 1D
K 2.A

W3c

/S 4B

Question ID :9888371711
Status : Answered
Chosen Option : 3

Q.74 The variance of a set of data is 121. Then the standard deviation of the data is:
A 11
B. 11
C. 21
D. 60.5

Ans X' 1D
K 2c
< 3.A
W 4B

Question ID : 9888371718
Status : Answered
Chosen Option :3




Q75 gAY (Ghoomar) &I WIBIIT I ¢l

A. 9ad
B. fgHTae ucar
C. ToTFATeT
D. SIFH-HHR
Ans X' 1B
& 2.D

Wv3cC
X 4A

Question ID : 9888371656
Status : Answered
Chosen Option :3

Q.76 HteH anel) ) gfEver sfien A wgde daisl 3 sak nge & T sEel  Seee R (KaisariHind) ues 8
st mrATe e ar?

A, #rd z@Ehelt (Lord Dalhousie)
[, @E R (Lord Canning)
C. #d @& (Lord Hardinge)
0. 7 Fui (Lord Curzon)

Ans X' 1D
vac
/5 3.8
& 4A

Question ID :9888371658
Status : Answered
Chosen Option : 2

Q77 gETHRd U5 feat do e o)

P

A 17
B. 18
.18

D. 21

Ans X' {.C
& 2A
V3B

< 4D

Question ID :9888371655
Status : Answered
Chosen Option :3

Q.78 was India’s first satellite launched from Indian-made launch vehicle.

A. Aryabhata
B. Rohini

C. Bhaskara-1
D. INSAT-1A

Ans X' {.C

v 2B
X 3.A

Question ID :9888371684
Status : Answered
Chosen Option : 4




< 4D

Q.79 A afudia sifader, o and w0, et s Y we o, s w1+ 14 %7 -5+ 200
e T 8

A5
B. 12
C.-7

D.-2
Ans XLB
W 2D

5 3.A
F N

Question ID :9888371725
Status : Answered
Chosen Option : 2

Q.80 gar # 3iFer ut & B3 S & HROT Bidl §l

A. &I SEHFEES IR FET AQGHGEFAES

B. Wew{ sE3iladss 3R Ascaa EaEs
C. e 31T ofer arvg

D. sy ATtFass 3R e
Ans X' 1D

W 2B

X 3.A

F N

Question ID : 9888371663
Status : Answered
Chosen Option :2

Q.81 Sffaed & Scdalc & TPRIcHS THAIT Hl Igam |

A. TZEX 3R F6 E B

B. 3UAlEThdl Ecdele I ad & fasR & IEd gl

C. vsh Fae & ATA I AT & JaOd 3Tl did|

D. &7 aiie aifafafer iy FAaR a7 =ffc &1 FRor 9o g1

Ans o 1 C
X 2.A
/5 3.B
5 4D

Question ID :9888371678
Status : Answered
Chosen Option :1

8 mrer AT (2s5)

A. 825
B. 15625
C. 125
D. 4125

Ans X' 1 A
K 2D

Question ID :9888371694
Status : Answered
Chosen Option : 4




/5 3.8
W c

Q.83 urde s 3 Wl fuer, 4 Raftuer qur 8 Rl mer 1 afd & avar gft qu awar § au g 425 Bae @
e o | e gft el 7w Ao

A4
B. 2
c.1

0.3
Ans X' 1.C
S 2.B
5 3.A
W 4D

Question ID :9888371702
Status : Not Attempted
Chosen Option :--

#2015 A feg & wddms fad & v e dea & s (FIFA Ballon d'Or) w3 ofiar am

A. FffcamAr Imesr (Cristiano Ronaldo)
B. & (Meymar)

C. Eriter 3 (Lionel Messi)

D. ¥549 HLS (Luis Suarez)

Ans JLC
S 2.A
/5 3.B
& 4D

Q.84

Question ID :9888371659
Status : Answered
Chosen Option :3

Q.85 What is not true with CT Scan?

A. Combines many X-ray images.
B. Scanning is often painful.
C. Generates 3-D cross-sectional views.

D. Identifies normal and abnormal structures.
Ans X' 1.C
& 2.A
V3B
5 4D

Question ID :9888371677
Status : Answered
Chosen Option : 3

Q.86 Western blot is the diagnostic test for

A. Plague

B. Leprosy

. HEV

D. Typhoid
Ans 21D

Question ID :9888371675
Status : Answered
Chosen Option :2




Wvac
X 3B
5 4 A

Q.87 Which of the following is not correct with reference to Bio-sand Water Filter?

A. Tt deactivates or kills pathogens.

B. Sedimentation removes larger particles.
C. Filtration removes smaller particles.

D. High quality water is always assured.

Ans 1A
X 2.8
W 3D
K 4C

Question ID : 9888371676
Status : Answered
Chosen Option :3

Q.88 i @1 fFehex ICC fFshe gl 3w wa T gt # =181 §7

A. 3ifaer Fael

B. faer &g &6

C. #fier &g

D. 39 ameAr
Ans 2 1A

/< 2.B

W 3D

K 4.C

Question ID :9888371667
Status : Answered
Chosen Option : 2

Q.89 Which article of the Constitution of India relates to Uniform Civil Code?

A4
B. 42
C. 43
D. 44

Ans (1.D
K 2.A
/5 3.B
K 4.C

Question ID : 9888371665
Status : Answered
Chosen Option :1




Q0 rafefaa & @ f9ea TFea &1 935 F1)

A [l o)

i ii iii iv
A
B. n
W
D. v
Ans X' {1.C

W 2D

/5 3B

K 4A

Question ID :9888371727
Status : Answered
Chosen Option :2

Q91 9f¢ JAGUAR = HCEWYT dl ELEPHANT =?

A. CMCFRCLV
B. CNCRFCLV
C.CNEERCLY

D. CNCRECLV
Ans X' 1.C
/< 2.D
5 3.A
W 4B

Question ID : 9888371722
Status : Answered
Chosen Option :4

Q.92 The order of rotational symmetry of a trapezium is:

A2
B.0
.4

D.3
Ans X1 A

/5 2.D
Wvsc
X 4B

Question ID :9888371713
Status : Answered
Chosen Option :4




Q.93 du A 4,500 w9 4% el et £ aifie at @ s R 2 aul ag agfa s wan fan afe sare aifde
gl @ @ Question ID : 9888371704
A. 3672 =% Status : Answered
B, 48602 T
C. 48762 v Chosen Option : 4
0. 376.2 sud

Ans X 1.C
X 2.B
75 3D
W 4A

Q.94 gy It wEmsi & fav Frfaf@a & § Fiaar sRE 9 66 82 Question ID : 9888371691

A. 13, 1/5, 215 Status : Answered
B. 1/3, 2/5, 1/5 Chosen Option :3

C. 15, 113, 215
D. 1/5, 2/5, 113

Ans X 1.B
K 2D
W3c
5 4A

Q.95 Feaaud Hanl # W qAeatud #1 B 3l 3haoh erse s AR T IoT @ e ersq 1 TE F1)
A. GIANTLER Question ID : 9888371740
B ILE Status : Answered
C. MUBORSH
D. RASQUE Chosen Option :3

Ans X' 1.C
X 2.A
W 3B
K 4D

Comprehension:



u1g 9rc. U 9@ & e & gader [Sanrt
(dfelgs far, SRK, SK, AK, HR wa VD) &I gaifar g1

qg g1¢ & &0 § 308« 4 3 39 W 3enia
gedAT & Icad &l

SubQuestion No : 96

Q.9 SRK & 9dc F{a arell $HT defell # SK &I 98c Fl=l el FT 3910 ¢
6 g 17 & Question ID : 9888371748

A. 6/5 Status : Answered
B. 5/6

C. 112

Chosen Option :3

D. 211

Ans X' 1A
X 2D
W 3B
X 4c

Comprehension:

urg GIe. Uk 9RER & dEl & 9dier Gart
(3feiigs A, SRK, SK. AK, HR ©a VD) &I gafar g1

qs g1c &l O § 308« &y A 39 9 e
gedAT & Icad &l

SubQuestion No : 97



Q.9
> HR &1 HHATCT &9 (sector) 0T HidA AT §7? Question ID :9888371747

Status : Answered
(=]
A. 36 Chosen Option :1

B. 72°
C. 54°
D. 108°
Ans (1.8
X 2.A
X 3.C
X 4.D

Comprehension:

urg 91e. Uk qRER & ol & gHdar Eart
(afehgs Ran, SRK, SK, AK, HR ©d VD) &I gaffidr g1

O GIE BT LA & HEIAA FL 3K 37 W 3menia
gedT & Icad &l

SubQuestion No : 98

Q.9 af aREr & 40 #wr §, ar AK 1 weig Stearel 3T VD & uig # arelt & g 3 aan)
8 AD Question ID :9888371746

B.3 Status : Answered

C.4 Chosen Option : 4

D.6
Ans X' 1.C

W2 A
/X 3B
/X 4.D




Q.99 :
CMOS1sa Question ID : 9888371683

Status : Answered

A. Battery-powered memory chip Chosen Option :4

B. Basic input-output system
C. Storage device

D. Cache memory operating system
Ans 3 1.

X
: ¢ o
o >» W O

Q0 JroTeT HIfSTT @ 28854 + 458 + 9 Question ID : 9888371689

Status : Not Attempted
A. 70

Chosen Option :--

B. 567
G

D. 576
Ans X1 A
S 2.B
Wvs3cC
< 4D




